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where,
N = QF=v(35)-QF=*(35) _ EFTY(35)-Ef=1(35)
Q7 k2(35)-0f1(35) E = Ek=2(35)_g}=1(35)

Use Equations 4.2.4-1 and 4.2.4-2, respectively, to calculate Q" '(35) and E,*'(35).

RH(T}) and en(T;)
N

The calculation of Equation 4.2-1 quantities ~

differs depending upon whether

the heat pump would operate at minimum speed (section 4.2.4.1 of this appendix), operate at an
intermediate speed (section 4.2.4.2 of this appendix), or operate at full speed (section 4.2.4.3 of

this appendix) in responding to the building load.



